G08392

No [Name Specification Unit| Quantity remark

1 [Big pretective ring 50° Natural gum pcC 1

2 |M4*30hexagon bolt nickel plating pc 2

3 |plastic plug ABS pc 1

4 [sealring natural rubber 50° black pc 1

5 |PA10 terimal block pc 1

6 |G08392 bend tube iron pc 1 coating on
7 (M4 nut Zinc alloy pc 2 coating on
8 [p14 “O” typering natural 50° pc 1

9 [M10*1*60hollow bolt galvanized on sureface pc 1

10 [S02045 metal lamp diffuser 0.9mm pc 1 coating on
11 |p10locking washer galvanized on sureface pc 3

12 [M10*1*5 nut galvanized on sureface pc 1

13 | G08392fixed ring for glass ABS 417 pc 1

14 [M10*1*3 nut galvanized on sureface pc 2

15 | GS metal lamp holder aluminum sgeet pc 1

16 |double bracket galvanized on sureface pc 1

17 |E27 VDE PA200 lampholder PA200 pc 1

18 |[M4*10 screws galvanized on sureface pc 2

19 |G06212 clear glass diffuser clear glass pc 1

20 [VDE teflon wire L=600mm 1*%0.75MM2 root 1

21 [VDE teflon wire L=600mm 1*%0.75MM2 root 1

22 |M4*6 screws galvanized on sureface pc 1

23 [p4locking washer galvanized on sureface pc 2

24 |earth wire (®4) L=140MM(B =) HO5V-K 1*0.75mm? pc 1




